Multiplication et Division par 10Z (C)

Trouvez chaque produit ou quotient.

6,441 + 10* = 95358 x 102 =
1,776 ~ 10% = 9,177 x 10% =
6,3948 = 102 = 8 x 102 =

9,2 x 10% = 1,38 = 10%2 =
9,0075 X 10% = 593 =~ 102 =
9,724 x 10% = 8,0993 x 102 =
2,9096 = 10* = 6,2809 =+ 10% =
7,46 ~ 102 = 8,713 ~ 10% =
2,52 x 10% = 3,834 x 102 =
1,301 x 10%2 = 923 =+ 102 =
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Multiplication et Division par 10? (C) Solutions

Trouvez chaque produit ou quotient.

6,441 + 10* = 0,06441

1,776 + 10*=0,01776

6,3948 + 10% = 0,063948

9,2 X 10 =920

9,0075 x 10% =900,75

9,724 x 10> =972,4

2,9096 + 10 = 0,029096

7,46 + 10% = 0,0746

2,52 X 10% = 252

1,301 x 10> =130,1

9,5358 x 10% = 953,58

9,177 X 10> =917,7

8 x 10> =800

1,38 + 10*=0,0138

5,93 + 10%=0,0593

8,0993 x 10° = 809,93

6,2809 + 10 = 0,062809

8,713 + 10%=0,08713

3,834 x 10°> = 383,4

9,23 +10%=0,0923
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